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Chip 0 Vt50 at 2.00fC Nent = 128    
 0.3229 ±Constant = 2.983 

 0.7565 ±Mean     = 135.6 

 0.5349 ±Sigma    = 8.559 
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 0.3229 ±Constant = 2.983 

 0.7565 ±Mean     = 135.6 

 0.5349 ±Sigma    = 8.559 
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Chip 1 Vt50 at 2.00fC Nent = 128    
 0.4271 ±Constant =  3.93 
 0.572 ±Mean     = 109.9 

 0.4045 ±Sigma    = 6.446 
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 0.4271 ±Constant =  3.93 
 0.572 ±Mean     = 109.9 

 0.4045 ±Sigma    = 6.446 
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Chip 2 Vt50 at 2.00fC Nent = 128    
 0.4189 ±Constant = 3.854 

 0.5832 ±Mean     = 108.3 

 0.4124 ±Sigma    = 6.572 

Chip 2 Vt50 at 2.00fC Nent = 128    
 0.4189 ±Constant = 3.854 

 0.5832 ±Mean     = 108.3 

 0.4124 ±Sigma    = 6.572 
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Chip 3 Vt50 at 2.00fC Nent = 128    
 0.4597 ±Constant =  4.23 

 0.5314 ±Mean     = 112.3 
 0.3758 ±Sigma    = 5.989 
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 0.4597 ±Constant =  4.23 

 0.5314 ±Mean     = 112.3 
 0.3758 ±Sigma    = 5.989 
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Chip 4 Vt50 at 2.00fC Nent = 128    
 0.4283 ±Constant = 3.941 

 0.5704 ±Mean     = 108.1 
 0.4033 ±Sigma    = 6.429 

Chip 4 Vt50 at 2.00fC Nent = 128    
 0.4283 ±Constant = 3.941 

 0.5704 ±Mean     = 108.1 
 0.4033 ±Sigma    = 6.429 
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Chip 5 Vt50 at 2.00fC Nent = 128    
 0.4266 ±Constant = 3.925 

 0.5727 ±Mean     = 108.8 
 0.4049 ±Sigma    = 6.454 

Chip 5 Vt50 at 2.00fC Nent = 128    
 0.4266 ±Constant = 3.925 

 0.5727 ±Mean     = 108.8 
 0.4049 ±Sigma    = 6.454 
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Chip 0 Gain at 2.00fC Nent = 128    

 2.826 ±Constant =  26.1 
 0.08646 ±Mean     = 58.98 

 0.06113 ±Sigma    = 0.9782 

Chip 0 Gain at 2.00fC Nent = 128    

 2.826 ±Constant =  26.1 
 0.08646 ±Mean     = 58.98 

 0.06113 ±Sigma    = 0.9782 
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Chip 1 Gain at 2.00fC Nent = 128    

 2.952 ±Constant = 27.17 
 0.08275 ±Mean     =  48.5 

 0.05851 ±Sigma    = 0.9325 

Chip 1 Gain at 2.00fC Nent = 128    

 2.952 ±Constant = 27.17 
 0.08275 ±Mean     =  48.5 

 0.05851 ±Sigma    = 0.9325 
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Chip 2 Gain at 2.00fC Nent = 128    

 2.905 ±Constant = 26.73 
 0.0841 ±Mean     = 46.95 

 0.05947 ±Sigma    = 0.9478 

Chip 2 Gain at 2.00fC Nent = 128    

 2.905 ±Constant = 26.73 
 0.0841 ±Mean     = 46.95 

 0.05947 ±Sigma    = 0.9478 
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Chip 3 Gain at 2.00fC Nent = 128    
 2.579 ±Constant = 23.91 

 0.09397 ±Mean     = 49.29 

 0.06643 ±Sigma    = 1.059 

Chip 3 Gain at 2.00fC Nent = 128    
 2.579 ±Constant = 23.91 

 0.09397 ±Mean     = 49.29 

 0.06643 ±Sigma    = 1.059 
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 2.647 ±Constant = 24.45 
 0.09229 ±Mean     = 47.56 

 0.06526 ±Sigma    = 1.044 

Chip 4 Gain at 2.00fC Nent = 128    
 2.647 ±Constant = 24.45 

 0.09229 ±Mean     = 47.56 

 0.06526 ±Sigma    = 1.044 
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Chip 5 Gain at 2.00fC Nent = 128    
 1.737 ±Constant = 16.04 

 0.1407 ±Mean     =  49.9 

 0.09948 ±Sigma    = 1.592 

Chip 5 Gain at 2.00fC Nent = 128    
 1.737 ±Constant = 16.04 

 0.1407 ±Mean     =  49.9 

 0.09948 ±Sigma    = 1.592 
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Chip 0 Extrapolated Offset Nent = 128    
 0.9962 ±Constant = 9.202 

 0.7848 ±Mean     = 16.75 
 0.5549 ±Sigma    = 8.879 

Chip 0 Extrapolated Offset Nent = 128    
 0.9962 ±Constant = 9.202 

 0.7848 ±Mean     = 16.75 
 0.5549 ±Sigma    = 8.879 
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Chip 1 Extrapolated Offset Nent = 128    
 1.444 ±Constant = 13.34 

 0.5413 ±Mean     = 12.18 
 0.3827 ±Sigma    = 6.124 

Chip 1 Extrapolated Offset Nent = 128    
 1.444 ±Constant = 13.34 

 0.5413 ±Mean     = 12.18 
 0.3827 ±Sigma    = 6.124 

-60 -40 -20 0 20 40 60 80

n
(C

h
an

n
el

s)

0

2

4

6

8

10

12

14

Chip 2 Extrapolated Offset Nent = 128    
 1.252 ±Constant = 11.57 

 0.6244 ±Mean     = 14.46 
 0.4415 ±Sigma    = 7.064 

Chip 2 Extrapolated Offset Nent = 128    
 1.252 ±Constant = 11.57 

 0.6244 ±Mean     = 14.46 
 0.4415 ±Sigma    = 7.064 
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Chip 3 Extrapolated Offset Nent = 128    

 1.496 ±Constant = 13.82 
 0.5226 ±Mean     =  13.2 
 0.3695 ±Sigma    = 5.912 

Chip 3 Extrapolated Offset Nent = 128    

 1.496 ±Constant = 13.82 
 0.5226 ±Mean     =  13.2 
 0.3695 ±Sigma    = 5.912 
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Chip 4 Extrapolated Offset Nent = 128    

 1.558 ±Constant = 14.34 
 0.5018 ±Mean     = 12.89 
 0.3548 ±Sigma    = 5.655 

Chip 4 Extrapolated Offset Nent = 128    

 1.558 ±Constant = 14.34 
 0.5018 ±Mean     = 12.89 
 0.3548 ±Sigma    = 5.655 
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Chip 5 Extrapolated Offset Nent = 128    

 1.752 ±Constant = 16.12 
 0.4462 ±Mean     = 8.084 
 0.3155 ±Sigma    = 5.028 

Chip 5 Extrapolated Offset Nent = 128    

 1.752 ±Constant = 16.12 
 0.4462 ±Mean     = 8.084 
 0.3155 ±Sigma    = 5.028 
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Chip 0 Input Noise at 2.00fC Nent = 128    
 7.546 ±Constant = 69.64 

  2.16 ±Mean     = 605.2 

 1.532 ±Sigma    = 24.44 

Chip 0 Input Noise at 2.00fC Nent = 128    
 7.546 ±Constant = 69.64 

  2.16 ±Mean     = 605.2 

 1.532 ±Sigma    = 24.44 
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Chip 1 Input Noise at 2.00fC Nent = 128    
 7.953 ±Constant = 72.86 

 2.054 ±Mean     = 598.8 

 1.469 ±Sigma    = 23.18 

Chip 1 Input Noise at 2.00fC Nent = 128    
 7.953 ±Constant = 72.86 

 2.054 ±Mean     = 598.8 

 1.469 ±Sigma    = 23.18 
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Chip 2 Input Noise at 2.00fC Nent = 128    
 6.624 ±Constant = 60.96 

 2.458 ±Mean     = 618.2 

 1.738 ±Sigma    =  27.7 

Chip 2 Input Noise at 2.00fC Nent = 128    
 6.624 ±Constant = 60.96 

 2.458 ±Mean     = 618.2 

 1.738 ±Sigma    =  27.7 
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Chip 3 Input Noise at 2.00fC Nent = 128    

 8.263 ±Constant = 76.61 
 1.961 ±Mean     =   586 
 1.359 ±Sigma    = 22.04 

Chip 3 Input Noise at 2.00fC Nent = 128    

 8.263 ±Constant = 76.61 
 1.961 ±Mean     =   586 
 1.359 ±Sigma    = 22.04 
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Chip 4 Input Noise at 2.00fC Nent = 128    

 7.901 ±Constant = 72.74 
 2.066 ±Mean     = 602.6 
 1.474 ±Sigma    =  23.4 

Chip 4 Input Noise at 2.00fC Nent = 128    

 7.901 ±Constant = 72.74 
 2.066 ±Mean     = 602.6 
 1.474 ±Sigma    =  23.4 
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Chip 5 Input Noise at 2.00fC Nent = 128    

 7.911 ±Constant =  73.3 
 2.054 ±Mean     = 587.5 
 1.441 ±Sigma    = 23.22 

Chip 5 Input Noise at 2.00fC Nent = 128    

 7.911 ±Constant =  73.3 
 2.054 ±Mean     = 587.5 
 1.441 ±Sigma    = 23.22 
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Chip 0 Vt50 at 2.00fC Nent = 128    
 0.3702 ±Constant =  3.42 
 0.6599 ±Mean     = 112.2 

 0.4666 ±Sigma    = 7.466 

Chip 0 Vt50 at 2.00fC Nent = 128    
 0.3702 ±Constant =  3.42 
 0.6599 ±Mean     = 112.2 

 0.4666 ±Sigma    = 7.466 
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Chip 1 Vt50 at 2.00fC Nent = 128    
 0.4457 ±Constant = 4.101 

 0.5481 ±Mean     = 109.8 

 0.3876 ±Sigma    = 6.177 

Chip 1 Vt50 at 2.00fC Nent = 128    
 0.4457 ±Constant = 4.101 

 0.5481 ±Mean     = 109.8 

 0.3876 ±Sigma    = 6.177 
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Chip 2 Vt50 at 2.00fC Nent = 128    
  0.34 ±Constant = 3.128 

 0.7187 ±Mean     =   111 

 0.5081 ±Sigma    = 8.099 

Chip 2 Vt50 at 2.00fC Nent = 128    
  0.34 ±Constant = 3.128 

 0.7187 ±Mean     =   111 

 0.5081 ±Sigma    = 8.099 
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Chip 3 Vt50 at 2.00fC Nent = 128    
 0.4457 ±Constant = 4.083 

 0.5506 ±Mean     = 112.3 
 0.3897 ±Sigma    = 6.205 

Chip 3 Vt50 at 2.00fC Nent = 128    
 0.4457 ±Constant = 4.083 

 0.5506 ±Mean     = 112.3 
 0.3897 ±Sigma    = 6.205 
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Chip 4 Vt50 at 2.00fC Nent = 128    
 0.4492 ±Constant = 4.133 

 0.5439 ±Mean     = 111.8 
 0.3846 ±Sigma    = 6.129 

Chip 4 Vt50 at 2.00fC Nent = 128    
 0.4492 ±Constant = 4.133 

 0.5439 ±Mean     = 111.8 
 0.3846 ±Sigma    = 6.129 
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Chip 5 Vt50 at 2.00fC Nent = 128    
 0.449 ±Constant = 4.148 

 0.5441 ±Mean     = 108.7 
 0.3847 ±Sigma    = 6.156 

Chip 5 Vt50 at 2.00fC Nent = 128    
 0.449 ±Constant = 4.148 

 0.5441 ±Mean     = 108.7 
 0.3847 ±Sigma    = 6.156 
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 1.768 ±Constant = 16.33 
 0.1382 ±Mean     = 50.38 
 0.09769 ±Sigma    = 1.563 
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 1.768 ±Constant = 16.33 
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Gain (mV/fC)0 10 20 30 40 50 60 70 80 90 100

n
(C

h
an

n
el

s)

0

5

10

15

20

25

30
Chip 1 Gain at 2.00fC Nent = 128    

 2.525 ±Constant = 23.24 
 0.09674 ±Mean     = 48.89 
 0.06841 ±Sigma    =  1.09 
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 2.227 ±Constant = 20.49 
 0.1097 ±Mean     = 47.92 
 0.07758 ±Sigma    = 1.237 
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 2.589 ±Constant = 23.82 

 0.09437 ±Mean     = 48.45 

 0.06673 ±Sigma    = 1.063 
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 2.499 ±Constant = 22.99 

 0.09776 ±Mean     = 50.28 

 0.06913 ±Sigma    = 1.102 
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 2.967 ±Constant = 27.41 

 0.08233 ±Mean     = 47.59 

 0.05821 ±Sigma    = 0.9315 

Chip 5 Gain at 2.00fC Nent = 128    
 2.967 ±Constant = 27.41 

 0.08233 ±Mean     = 47.59 

 0.05821 ±Sigma    = 0.9315 

-60 -40 -20 0 20 40 60 80

n
(C

h
an

n
el

s)

0

2

4

6

8

10

12

14

16

Chip 0 Extrapolated Offset Nent = 128    
 1.501 ±Constant = 13.87 

 0.5208 ±Mean     = 10.77 
 0.3683 ±Sigma    = 5.892 
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 1.532 ±Constant = 14.16 
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Chip 1 Extrapolated Offset Nent = 128    
 1.532 ±Constant = 14.16 

 0.5102 ±Mean     = 11.97 
 0.3607 ±Sigma    = 5.772 

-60 -40 -20 0 20 40 60 80

n
(C

h
an

n
el

s)

0

2

4

6

8

10

12

Chip 2 Extrapolated Offset Nent = 128    
 1.201 ±Constant = 11.09 

 0.6512 ±Mean     =  15.5 
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 1.535 ±Constant = 14.18 
 0.5091 ±Mean     = 15.28 
  0.36 ±Sigma    =  5.76 
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 1.666 ±Constant = 15.39 
 0.4693 ±Mean     = 10.51 
 0.3318 ±Sigma    = 5.309 
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 1.513 ±Constant = 13.98 
 0.5166 ±Mean     = 13.83 
 0.3653 ±Sigma    = 5.845 
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 7.589 ±Constant = 69.81 

 2.146 ±Mean     = 558.9 

 1.519 ±Sigma    = 24.19 
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 8.223 ±Constant = 75.44 

 1.985 ±Mean     = 593.9 

 1.414 ±Sigma    = 22.39 
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 7.561 ±Constant = 69.47 

 2.156 ±Mean     = 604.3 
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 8.378 ±Constant = 76.58 
 1.953 ±Mean     = 570.7 
 1.405 ±Sigma    = 22.06 
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 9.027 ±Constant = 81.98 
 1.821 ±Mean     = 571.5 
 1.331 ±Sigma    = 20.62 
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 7.899 ±Constant = 73.27 
 2.056 ±Mean     = 616.7 
 1.437 ±Sigma    = 23.23 
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 7.899 ±Constant = 73.27 
 2.056 ±Mean     = 616.7 
 1.437 ±Sigma    = 23.23 
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